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307 glz2told 3,000 3,000 0
04 QIZHHALE X 3,000 3,000 0
OZDISAtEE 22Y =X 3,000,000 3,000
A2H == 3,600 3,600 0
307 212told 3,600 3,600 0
04 QUIZHHALE X 3,600 3,600 0
OA2IMI=CHl K 3,600,000 3,600
THak2tel 37,202 46,232 29,030
A2 35,022 41,072 26,050
201 ety 35,022 35,022 0
01 AR 2t2Ibl 3,540 3,540 0
OSHAL Ler2gH| 3,540
—QOIAHINAY 29 $42
160,000 x 122 1,820
—&Zs WM & 2 100,000 100
— et =2 45,0002 122 540
—d3atL FaH 100,000 100
—M==£ At 50,000& »22] 100
—&Jjetd 2| el +==+=3 65,0002 +123 780
02 S&524H| 31,482 31,482 0
O33a2= % MAl 16,430
—&IIR= 8,000,000 8,000
— ol 1,000,000 1,000
—SEA A=H] 7,000,000 7,000
—uUEREFES 250,000 250
— N RE=S 55,000& *22] 110
—TAIDA HiAXY 282 70,000 70
OAlE EHIR AIH| 15,062
—H#HEHl KA 500,000 500
—2A=7 Al 2,4703x4,326m 10,686
—JIAA FXH 1,500,000 1,500
—staa | 70,0002 123 840
—sHJIRAEE] EF =2
33,0002 *122 396
—d2+7LIE M2t] 1,080,000 1,080
—5&J| ZIIZAHI 50,0003 50
Rhefae] 2,180 5,160 A2,980
201 Lt | 2,180 5,160 £2,980
02 S&523H| 2,180 5,160 2,980
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A 20NS
A FOUMH2H(A0NS)

ehel: Tharze (erel: @2
SA B ER(S) - MRAE - BaS Of &r e HIDE
O&32= % MAl 180
— AHS Al 30,0002 30
—23He RE=E 50,0003 *22] 100
—NSi dAt= 50,000& 50
OAI2 &I =Xl 2,000
—2EXE ;X 2,000,000 2,000
HH2AZHI(RONS) 65,405 62,765 2,640
ol =g 3 36,245 36,245 0
el 24 H 26,205 26,205 0
101 e1244| 26,205 26,205 0
01 2= 26,205 26,205 0
Oxl=2 e+ 26,205
-5 9,796 x1H*28A| 2t 12 3,292
—6=2 8,312 x2&#28AI2H+ 12 5,586
la= 7,457 3 2B <28 Al 2t 128 5,012
—8= 6,682 »1H«28A| 2t 12 2,246
—9= 5,993 »4H 28| 2t 12 8,005
—JIs%= 5,903 » 1 *28A1 2t 12 2,014
=xalsl 10,040 10,040 0
203 R F=dHI 10,040 10,040 0
01 Ja=2dg =4 6,600 6,600 0
OJ| =23 RFA| 6,600,000 6,600
02 HRIRERFaH] 440 440 0
OZ 3 HR = 40,0002 11 440
04 FA2IERFA| 3,000 3,000 0
ORAN=2E R 250,000& x 122 3,000
|=&H| 29,160 26,520 2,640
2ot | 13,320 13,320 0
201 Ler2dd| 13,320 13,320 0
01 AR 2t2Ibl 13,320 13,320 0
ORA=gI 22 11,880
—Let=ZH| 40,0003 «11&«128 5,280
—= 50,0002 x11& 122 6,600
O=AHl SXt= 120,000« 10 =122 1,440
Gl 15,840 13,200 2,640
202 O4Hl 15,840 13,200 2,640
01 =UWoHI 15,840 13,200 2,640
gRFII|I=20YI 120,000 x11&«12E 15,840
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SN f0ls
M FONEH2Y(R012S)
CHel: FOIMET|R (== RESED
£ () - NIRAIY - BHES Ol &+ 24 %EOE_'H Hns2t
2025 163,036 165,946 A2,910
FOUMEH2Y(A0I128) 102,205 107,515 A5,310
FOIMET A 62,970 64,390 A1,420
DAY 5,960 7,180 A1,220
201 e Y| 5,960 5,580 380
01 ArR2eld 1,160 1,160 0
ORIAYZT AT A4 QI 800,000 800
OQIB)| sMe|= RUHl 15,0002 %25]x 128 360

02 SZ2YH 4,800 4,420 380
OQZUE 0I5 S QB2 400,0002 x128 4,800

SeRY 54,950 54,950 0
301 LA 54,950 54,950 0
05 -2l - EasIAs 54,950 54,950 0

OsSxas2y 49,200
A= 200,000 x 15«12 36,000
—-&02 200,000 * 158 *23] 6,000
—3|o &ML 20,0002 * 1523|128 7,200
OptassEgs 25,0002 %1158 x23] 5,750

FOIMET 2,060 2,260 A200
201 LEr2gH| 800 1,000 A200
02 SZ2YH 800 1,000 A200

Ogs o sxI2eldl 800,000 800
301 LA 1,260 1,260 0
10 HAIAHIBAS 1,260 1,260 0
OMestATH|IolY #0=C SAlH|
7,000 %18 * 102 1,260
FOXXIME 2 20,040 20,040 0

FOUXKIME 2 16,440 16,440 0
201 e gy| 16,440 16,440 0
01 ArRZeld 16,440 16,440 0

OF QU sloA&L4
30,0002 x29% « 128 10,440
OF0IWa AL 6,000,000 6,000

ARIRIS S 3,600 3,600 0
307 QI2t0|™ 3,600 3,600 0
04 QIZISHAIE X 3,600 3,600 0

OABIKKHE Nz 3,600,000 3,600
a2 19,195 23,085 13,890
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S #0l2S

F: FRHEHSY(R0128)

CHRl: Mokl (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
A2 16,055 17,735 A 1,680

201 23] 16,055 17,735 A 1,680
01 AtR2teltl 3,780 3,660 120
OSHA Yo+t 3,780
—QOIAHINAY 24t
160,000& *x12& 1,920
—gst2eld 2 110,000& 122 1,320
—H==X HAH| 180,000& 180
—&3IE HAH| 160,000& 160
—g2S UM & =2l 200,000 200
02 B2==24l 12,275 14,075 21,800
O322= 2 HA 8,910
—NIIe3 6,000,000 6,000
—&ot=ERe=s 1,000,000& 1,000
—SEAN AZHI 1,800,000& 1,800
—SFNERE2 40,0003 23] 80
—SAIDEA HHAEY BE 30,000& 30
(OZNF=FSf=IESIN ]| 3,365
—st& A S X 50,000& *12& 600
— A= R Al 2,4703 917 m’ 2,265
—HFYEHI =Xl 500,000& 500
xz el 3,140 5,350 72,210
201 2pt23d] 3,140 5,350 A2,210
02 B2l 3,140 5,350 A2,210
O332=2 2 AMA 140
— XS XAl 30,000& 30
— NS A= 50,000& 50
—SZMERES 30,0003 *23| 60
(OZNF=FSi=IESIN ]| 3,000
—2ZXE XAl 3,000,000& 3,000
T SAAY| (R012S) 60,831 58,431 2,400
ol A A 34,191 34,191 0
o124H| 24,191 24,191 0
101 eIl 24,191 24,191 0
01 4 24,191 24,191 0
O=u22H 24,191
-5 9,796 x 1«28l 2tx122 3,292
—62 8,312 x2H 28 A| 2tx 12 5,586
—7= 7,457 x2Bx28A| 2tx 12 5,012
—8= 6,682 x1Hx28AI 2t 128 2,246

_79_




SH: 20125
M HZ2IJHI(A0128)
tel: 233 (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
—9= 5,9033 »4H*28A| 2t 12 8,005
=xalsl 10,000 10,000 0
203 R F=dHI 10,000 10,000 0
01 J22dg =4t 6,600 6,600 0
OJ| 228 R=A| 6,600,000 6,600
02 FRIER=AY] 400 400 0
OF AT RE Y| 40,0002 102 400
04 FAE2IERFAHI 3,000 3,000 0
ORAN=Z R 250,000& 122 3,000
Jl23Hl 26,640 24,240 2,400
et | 12,240 12,240 0
201 Ler2 | 12,240 12,240 0
01 AtR2eld| 12,240 12,240 0
ORAME2EII22HI 10,800
—2e+E 40,0002 *10&*122 4,800
—=l 50,0002 10 * 12 6,000
O=Al SXt= 120,000« 104 =122 1,440
Gl 14,400 12,000 2,400
202 OdH| 14,400 12,000 2,400
01 =UWoHI 14,400 12,000 2,400
OgRFAI |20 120,000« 10+ 122 14,400

_80_



oF
i’
OF
oJ

P S NG I I % J AR ) i
ol glal<|<
KIo
E
=)
QO | O | O | O |O o o | O | O o | O | O o O Q o | O o | O
SR EIE g |8|8|8 IR S R R 2|8
v | E1F (€))7 S| 8|88 . allhs S || oo @ |
(o]
ik
RIS
| O | OO | OO © ©O © O|0O || O O ©O O o|lo|lo|log oo |o O |1 Q|| 29 |2 O O | o (o ol o | o
3 o|s|8|8I88888|8|8§88882|2|18|88\8|8 B|g|5|5|F $8|8 88|88
W%%551 A R N ECRECEINER A A A A — |— — TN SO N[~ |— —|™|m
3l
<
S
od  of) (Rl o ol o o o8] o W o 0H
S g ¢ SN S S S 8 S
S S * X O®0 X 80 S X X < S
or o o R 80 & o & o g0 80 o o
0 8 & m S 4 £ © Q8 &
X =romy AT * X - -
Y = w & 8% ! o o .
. 3 88 ¥ 8 <8 ]
a1 S S W g me S
b= sggd o™ 08 .
< « S ol 00 ol
= U 3 K <
s R _m & mw Hﬂ mT
E3 o) ol oF no e 20 )
: - Tk <0 Es) K RJ - m
~ < o it il Ju CI !
= o o 00 Al o1 I =
ol Wm0 W . 5 o [ 5
oy 20 o3r > il <0 <F <0 K m o oM = ur
= " N KMo ¥ Ok <0 RO A ® D
= m 5|5 M" 5 R m |z W <+ fo & U DD |0 |H R N|D|T R A|D|[H R
) = B [m o~ & 3 |- W WS o1 30 | &0 Q0|3 W [ B || (m R E|U [y L
- 4 O A of Ko ob AD Mo KO~ 20 o RO [og (O[O0 3| (U wl O | @ | 0K |A ol o | R |ok Al | | S
w Jlw|e |30 o o) F ol o R I -V = I - s O v e T 1 VO B = R i
R0 %w RlW|ar|< O O H O |8 [ab | O Ofm ot |do Ofol|® O || R|ol|T O O|R|R O] |3al
. N U - o | — | - RIR| - |- — =
+ 2®3sls 8 %z s D=ly |z|e RIElz|s gz [Bls
= < I N D <5} [m] ~ fep) T|AD ~ m Dan
I+ 5o M M.._ al o K- Mn K- <
o
< | K
4

_81_



oF
i’
OF
oJ

-

KIo

Hlw

6,690
25,510
AB0

1,560

1,180
21,180
21,180

6,494

2,054

LH3r
uiEd
RES

3,600
31,556
27,736
23,836

4,060

19,776

3,820
3,820
3,820

48,984

29,304

Ofl & 24

3,600
3,600
24,866
22,226
22,226
4,010
4,010
1,920
1,440

250
300

100
18,216
13,640

6,000
1,200
6,000

140
250

50
4,576
3,476
500
600
2,640
2,640
2,640
140
30

50

60
2,500
2,500

55,478

31,358

Oir
k)
ol
a1
IF

At

- SHRAEA) - M

- Y

=

EAx128

3,600,000

160,000
120,000

| JH=]

3

CH

=
=

OAI2IX
22|
teldl

01 At

At

g

1128

=
=

i
S+

0

_

=
10y
0
|

250,000
300,000

100,000

<+
Bk
=
E

ujo

0

80
_

500,000& 122
200,000& 6
1,000,000 x6&

—HMlle=a

3
250,000

i

/g
il

R0
ol
_

50,000&
500,000&
50,0002 123
30,0003
50,000&

21,407

70,0003 *2

2,470

fHl = Xl
t& A KA

E=Ra PN sl

—3
—Nsx BAZ

— S AIJEAHH
OAE&Hl |XIH|

—SH A X

— NS Al

3

no

I+
Tl

R0
ot

30,000& »2
2,500,000

—2EXE KA

OA&&EHl |XHl

(=]

X

RO

R0
80
0K
or
ol

10

2,014
2,014
2,014

19,384
19,384
19,384

21,398
21,398
21,398
21,398
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M AAS
B HHPHAY|(AAS)
chol: et k]
2 A CHOl(BIH) - NSAIY - BAS e 2
9,796& x 1H*28A| 2tx12& 3,292
8,312& x1Hx28A| 2t 12 2,793
7,457 x2Bx28A| 2tx 12 5,012
6,682 x1Hx28A| 2t 128 2,246
5,993 x4 H+28A| 2tx 128 8,055
= 9,960 9,920 40
203 ZRF=&H] 9,960 9,920 40
22 AR FAY| 6,600 6,600 0
|2t2H PR 6,600,000 6,600
AR =& 360 320 40
Itat g 2 F=AY| 40,0003 ~9H 360
FIHRFAYI 3,000 3,000 0
N2ggRF=&| 250,000 128 3,000
= 24,120 19,680 4,440
2Bt 11,160 10,080 1,080
201 LEt23H| 11,160 10,080 1,080
At 22|l 11,160 10,080 1,080
ORM2EI 234 9,720
—YPt=EH| 40,0002 9"« 128 4,320
— =2l 50,0003 9H *12& 5,400
O=ADI X2 120,000& x1CH*12& 1,440
(]s] 12,960 9,600 3,360
202 0ddl 12,960 9,600 3,360
12,960 9,600 3,360
FAI 20 120,000 x9H 123 12,960
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M SRS
B FOIMESA(ADS)
el FOTXME 2 (S5l &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
301 Let2a=a 1,260 1,260 0
12 JIet24=2 1,260 1,260 0
OFCXXIHE X2 SAHA S4MH]
7,000 *141%180 1,260
EGAESOIEEA 8,000 8,000 0
307 22t01& 8,000 8,000 0
04 QUIZHHALE X 8,000 8,000 0
OF&8d =012 =X 8,000,000 8,000
A= 3,600 3,600 0
307 2iz2told 3,600 3,600 0
04 QIZHHALE & 3,600 3,600 0
OAZM =TS JH=l 3,600,000 3,600
THatzke| 35,844 56,300 A20,456
Atz 29,764 44,980 A15,216
201 Ler2 | 26,264 26,020 244
01 AR 2t2IHl 3,690 3,690 0
OSHA LB 28| 3,690
—QOIAHINAY g4t
150,000& x 12 1,800
—2etAeIid =2 110,000& x 122 1,320
—dt R AH| 150,000 150
— M= FHAH 120,000 120
—SZ2SuH ¥ =2 100,000 100
— 22NN # AP B 10,0002 *20H 200
02 S3=23Hl 22,574 22,330 244
O83a2= % MAl 16,800
—HlIe= 700,000& »12& 8,400
—aotees 400,000 ~6& 2,400
—SFNd RE= 150,000 23] 300
—uUEREFELES 125,000& *23] 250
—SEAMHZHI 450,000 » 12 5,400
—SAMAANDAEEE 50,0003 50
OA&ZEHl |l 5,774
—2Ad=R bl 2,470 *1,139m 2,814
— IS =X 2elH| 500,000& 500
—stgaF A2 80,0002 12 960
—SEAM Bi=E X222 1,500,000 *1CH 1,500
401 AlZHIZ SO 3,500 18,960 A15,460
01 Al&H] 3,500 18,960 A15,460
Oasd =& uH el 3,500,000 3,500
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M H2S

B FOIMESA(ADS)

Erelr THatte| (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
Rhefae] 3,140 4,250 A1,110

201 et 3,140 4,250 A1,110
02 S3=23Hl 3,140 4,250 A1,110
OZ222=% HAl 140
— ALS Al 30,000& 30
—NSXHEME 50,000& 50
—SINERE= 30,0003 *22] 60
OAZ &l =Xidl 3,000
— A4S FAH 3,000,000& 3,000
EEHN S A& 2,940 7,070 24,130
201 &er=gll 2,940 2,070 870
02 s&=24| 2,940 2,070 870
O=&=23Hl 2,940
—x8&l=z 120,000& *12& 1,440
— 5= XlHl 1,500,000 1,500
HH2LIH(A=1S) 57,149 54,989 2,160
el E=gdyl 31,589 31,589 0
rals] 21,629 21,629 0
101 2124 21,629 21,629 0
01 2= 21,629 21,629 0
Ox=2 = 21,629
-5 9,796 * 1 *28A| 2+ 122 3,292
—6= 8,312 x1H«28A| 2t 12 2,793
—72 7,457 x2B<28AI 2Ex 123 5,012
—8= 6,682 x2 2 *x28A| 2t 12 4,491
—93 5,993 x3&#28AI 2+ 12 6,041
=xalsl 9,90 9,960 0
203 EFR =4I 9,90 9,90 0
01 JA2=2gdg =4yl 6,600 6,600 0
Ol 228 RF4| 6,600,000 6,600
02 P RFAH] 360 360 0
OZ 3t R =M 40,0002 «9E 360
04 FAEIER=AHI 3,000 3,000 0
ORN2EHRFLY] 250,000 123 3,000
Jl2&Hl 25,560 23,400 2,160
22| 12,600 12,600 0
201 LBty 12,600 12,600 0
01 AtR2t2|bl 12,600 12,600 0
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SN e=IS
MM #Y2AAY(ATIS)
chel: D123l (&2 & &)
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OfAM2gII=22ZH| 9,720
— Y Et=ZH| 40,0003 x9H 123 4,320
—= | 50,0003 x9H 123 5,400
O=AD| Xtz 120,000 »2CH+123 2,880
o4l 12,960 10,800 2,160
202 O4Hl 12,960 10,800 2,160
01 =UWObI 12,960 10,800 2,160
OYRF&II=04H] 120,000& x9& 128 12,960
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FM F=2s8
B F0IHE2SH(AD2E)
el FOTXME 2 (ol @)
= — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
OF0IWa A& 6,500,000 6,500
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B FOIMEHEH(ES)
et ZOIXX| M2 CCRL
SA - F SR (EH) - NPAY - BYS 0l & o e DS
OFQUTXIEE THASAHA =41H|
7,000 +1A1%180 1,260
ANEIHI=CHS 3,600 3,600 0
307 elztold 3,600 3,600 0
04 CQIZFHALE X 3,600 3,600 0
OAESH=Mz2l K= 3,600,000 3,600
THak2tel 54,628 80,998 N26,370
EAtztel 51,488 76,788 A25,300
201 et 51,488 51,788 A300
01 AtRZ2lHl 6,240 6,540 A300
OSHA Yo+t 6,240
—DIAYIAIAY 2Has2
160,000 x12& 1,920
—gZ&S uH =2l 100,000& 100
—gsteliid = 150,000& 122 1,800
—Zst L At 500,000& 500
— M= Ea| 400,000& 400
—dJ|ietd et ==&  110,000&*122 1,320
— AT & As|IE 10,0002 20K 200
02 324l 45,248 45,248 0
Os82= ¥ MAl 33,310
—&JIes 1,200,000 122 14,400
— 4ol 23 700,000& 6 4,200
—SEA A2 1,150,000& 123 13,800
—SHNERE= 170,000& *23] 340
—SRYRES 520,000& 520
—ZAIJIA HHA Y 2= 50,000& 50
OAM&EHIS XY 11,938
—2d2 |AH 2,4703+2,412m’ 5,958
—JIHA |Xl2cl] 1,500,000& 1,500
—HHEHl =Xl 500,000& 500
—sZJ |Xl2elt] 120,000& 122 1,440
—SZJ EI1EAHI 120,000 = 1CH 120
—3t¥ 4 KX 50,000 12 600
—HE3 = IEX =A2cdl 1,820,000& 1,820
A2t 3,140 4,210 A 1,070
201 Lpret] 3,140 4,210 A1,070
02 2324l 3,140 4,210 A 1,070
Os32= ¥ MAl 140
— NS Al 30,000 30
— NS BAE 50,000& 50
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Erelr THatte| (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
—SINERE= 30,0003 *22] 60
OAlE EHIR AIH| 3,000
—24Extg [ 3,000,000 3,000
HY2HBHI(ES) 71,419 68,539 2,880
el E=gdyl 38,299 38,299 0
rals] 28,219 28,219 0
101 el2d| 28,219 28,219 0
01 2= 28,219 28,219 0
o=z 28,219
—52 9,7963 1 #28AI2H+ 12 3,292
—6=2 8,312 x2&*28A| 2+ 122 5,586
A= 7,457 A28 *28 A 2t* 122 5,012
—8=2 6,682 x 12 *28A1 2t+ 12 2,246
—93 5,993 x5 #28AI 2t 12 10,069
—JIs%= 5,993 1 *28A| 2+ 12 2,014
=gals] 10,080 10,080 0
203 EFF4HI 10,080 10,080 0
01 JA2=2gdg =4y 6,600 6,600 0
Ol 228 RF4Y| 6,600,000 6,600
02 P RFAH] 480 480 0
OZ At R =AM 40,0002 x12& 480
04 FA2IER=I 3,000 3,000 0
ORN2EHRFLY] 250,000 123 3,000
Jl2&Hl 33,120 30,240 2,880
et 15,840 15,840 0
201 &er=gHl 15,840 15,840 0
01 AtR2t2|bl 15,840 15,840 0
OfAzgllzdll 12,960
—Et=EH| 40,0002« 12 * 122 5,760
- 50,0002 128 » 122 7,200
OSAD| etz 120,000 x20H 123 2,880
Gl 17,280 14,400 2,880
202 044l 17,280 14,400 2,880
01 =WHHI 17,280 14,400 2,880
PRF=II|=0HI 120,000« 128 * 122 17,280
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A B1S
g FOHH2E(S1S)
=22 FUXRME 2 (eto: &)
= _ — &4
SA - EY S (BH) - NRAY - BAS Of & o4 St DS
12 JIet24=2 1,260 1,260 0
OFCRXIHE X2 SAHA S4MHI
7,0003*141%180 1,260
A2H == 3,600 3,600 0
307 212t01& 3,600 3,600 0
04 QIZHHALE X 3,600 3,600 0
OA2IMI=CHEl = 3,600,000 3,600
M &k2tel 41,170 63,856 N22,686
A2 38,030 59,736 N21,706
201 et 25,830 19,206 6,624
01 AtR2t2|bl 3,396 3,396 0
OSHA Lst2SH| 3,3%
—SOIAYIAIAY 2YLAE
160,000 x 122 1,920
—&Zs WM & 2 100,000 100
— 22N R A FS 20,0002 %1004 200
— a2t =5 88,0002 12 1,056
—&JI4H HEEE =2 120,000 120
02 S&234H| 22,434 15,810 6,624
O33a2= % MAl 11,140
—dJIe= 550,000& =12 6,600
—aotees 140,000 «6& 840
—SEAMN AZHI 300,000& 123 3,600
—SHNERE= 50,0003 *22] 100
OAlE EHIR AlHI 11,294
—22 RAldl 2,470 ~888m 2,194
—HHZHl KA 500,000 500
—3t&4 R 50,0002 123 600
—JIAHE R 22l 1,000,000 1,000
—8E S| Al 500,000 ~2CH 1,000
—&J| HHAE 2 A2 FH 6,000,000 6,000
401 AlEHIZ=0HY] 12,200 40,530 128,330
01 Al&Hl 12,200 40,530 A\28,330
OFAL 29 g=SAt 12,200,000 12,200
xrerrel 3,140 4,120 980
201 et 3,140 4,120 A980
02 s&=4| 3,140 4,120 A980
O332= & HAl 140
— AHS Al 30,000& 30
—NSi dAt= 50,000& 50
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B FOIMESY(FIS)
Erelr THatte| (S d 3
= — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
—SINERE= 30,0003 *22] 60
OAlE EHIR AIH| 3,000
—24Extg [ 3,000,000 3,000
HHY2LIHI(B1S) 86,737 82,429 4,308
el E=gdyl 57,577 55,909 1,668
rals] 46,237 44,569 1,668
101 el2d| 46,237 44,569 1,668
01 2= 26,696 26,148 548
o=z 26,696
—52 9,7963 12 #28AI 2H+ 12 3,292
—6=2 8,312 x2&H*x28A| 2+ 12 5,586
A= 7,457 3 3B <28Al 2tx 128 7,517
—8=2 6,682 x 12 *28A| 2t+ 12 2,246
—93 5,993 4 H#28A| 2t 12 8,095
03 RIHAZZNES 19,541 18,421 1,120
OLIFQIoHY Q121 17,821
—JlEs 934,990« 18122 11,220
—&0= 11,220,000 x 1 %4/12 3,740
I aPNE= 32,7203 1E«17& 557
—H2SA=E 60,0002 «1& 12 720
—2BIHt= 40,0003« 18 +12& 480
—Z=22=E 6, 1303 x 12 *15A1 2t+ 122 1,104
OfloleHy 282 1,720
—MTHEE 17,821,00024%10/1,000 179
—JIEEE 17,821,000&%13/1,000 232
—=2H3 17,821,000&4+45/1,000 802
—d2=EE 17,821,000 %26.65/1,000 475
—LAIIRALEE 475,000 +65.5/1,000 32
=xalsl 11,340 11,340 0
203 EF =4I 11,340 11,340 0
01 JA=2gdg =4y 7,900 7,900 0
Ol 228 RF4| 7,900,000 7,900
02 P RFAH] 440 440 0
OZ At R =AM 40,0002 118 440
04 FAEIER=AHI 3,000 3,000 0
ORN2EHRFLY] 250,000 123 3,000
Jl2&Hl 29,160 26,520 2,640
22| 13,320 13,320 0
201 Ler2gy| 13,320 3,320 0
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02 Of
M 0
0¥ [0

J

g

AR 2telt| 13,320 13,320 0
OFA2glI12&] 11,880
—YPt=E| 40,0003 *11H+12& 5,280
—a | 50,000 x11H«12& 6,600
OsAPD| dXtz 120,000 *1CH*12& 1,440

15,840 13,200 2,640

0481 15,840 13,200 2,640

=LHO I 15,840 13,200 2,640
OgRFAII20 ] 120,0002 x 11« 123 15,840
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=o=
FOIME 2R (Z2S)
ZOINXIMESY Q:HA)
- _ _ AN
S B ER(3) - MIRAY - BES St HIBE2
| | NN ENERIE 3,600,000 3,600
THar2te) 20,656 25,716 A3,060
= AR 19,496 21,576 A2,080
201 YBr2 S| 19,496 19,576 A80
01 At222|H| 3,640 3,640 0
OSHAL YergY 3,640
— SOIAY|AlAEY 160,000 * 122! 1,920
—XAX =AY 120,000 120
—32S DA 2 200,0002! 200
—A3)| B2 10,0002 *10JH 100
—FI|QHEEY 100,000 100
—gigl 2| 4 100,000 * 122 1,200
02 2229y 15,856 15,936 A80
O2222 2 MA 10,380
—®J|e2 6,000,000 6,000
—ABlEER2 720,000 720
—SIA 2] 3,600,0002! 3,600
—SHA BAMA 30,0002 23] 60
OAE&HIR AU 5,476
—A2RX 22l 2, 47094 +800M" 1,976
—DJIHASRK 22l 1,000,000 1,000
— MY FA 2l 500,000 500
—SI™ASK 2eldl 50,0002 * 122 600
—H 25 48| BXSK 226l 1,400,0002 1,400
22| 3,160 4,140 A980
201 YBre A 3,160 4,140 A980
02 Tz 3,160 4,140 A980
OZ222 2 HA 160
U= 30,000 30
~REX 2AI2 50,0002 50
—sANNEE2 40,0002 %23 80
OAIE =l S| 3,000
—2E32 XY 3,000,000 3,000
HHS2HAH|(Z25) 87,814 79,304 8,510
ol A 57,214 53,604 3,590
01214 45,874 42,324 3,550
101 Q14| 45,874 42,324 3,550
01 B2 06,464 23,903 2,561
OENF=I=EN=. 26,464
—52 9,796 %12 %28 Al 2H+ 12 3,292
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SN B2
M AY2IIHI(E28)
Erol: olEg | @
I3 G9I(3) - MRAY - A e 2
—6= 8,312 x2*28A1 2t 12 5,586
-2 7,457 3 3B +28Al 2t 128 7,517
—9=2 5,993 x5 #28AI 2+ 12 10,069
03 RIHAZIZNE S 19,410 18,421 989
ORIHQIRHY QI4H] 17,701
—Jl=s 934,990« 1& 122 11,220
—d0= 11,220,000 x 1 %4/12 3,740
— It 32,7203 1E«17& 557
—H2ISAI=E 60,0003« 18 +12& 720
—o2SRS 30,0003 x12H«12& 360
—ZU22E 6, 1303 x 1« 15A| 2t 12 1,104
OolzoleH) 282 1,709
—MTHEE 17,701,000&%10/1,000 178
—JIEEE 17,701,000&4%13/1,000 231
—=2H3 17,701,000&4+45/1,000 797
—2Ad2=EE 17,701,000 %26.65/1,000 472
—LAIIRALEE 472,000 +65.5/1,000 31
=gals] 11,340 11,300 40
203 EF =4I 11,340 11,300 40
01 J|22gg =8| 7,900 7,900 0
Ol 223 HRFAH 7,900,000 7,900
02 JIE R4 440 400 40
OZ At = 40,0003 %118 440
04 FA2IER=I 3,000 3,000 0
SN2 HRFAH 250,000 123 3,000
=234 30,600 25,680 4,920
Zot=2d| 14,760 13,680 1,080
201 &er=gHl 14,760 13,680 1,080
01 At2teldl 14,760 13,680 1,080
ORAM2gII22 11,880
— 22 40,0002 «11&*122 5,280
-l 50,0002 118122 6,600
OSAD| &tz 120,000 x20Hx 123 2,880
Gl 15,840 12,000 3,840
202 044l 15,840 12,000 3,840
01 =UHAHI 15,840 12,000 3,840
PRI =20 H 120,000 x11&x 122 15,840
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N26,420

2,300
A200

A 200
A 200

LH3r
uiEd
RES

239,861

171,299

78,070

7,090
7,090

890
6,200

68,820

Ofl & 24
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144,879

80,370

6,890
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890
800
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ol
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30
0B

0

2,500
100

100
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23,000
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2500
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68,820
68,820
2,160
900
900
1,260
1,260
41,860
38,260
34,500
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68,820
68,820
62,320
45,600
7,600
9,120
6,500
4,660
1,000
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900
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3,660
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38,860
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FAM S3s
& FUUH2H(S3S)
el FOTXIME 2 (S5l &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
301 Let2a=a 1,260 1,260 0
12 JIet24=2 1,260 1,260 0
OFCXXIHE X2 SAHA S4MH]
7,000 *141%180 1,260
A2 =2 3,600 3,600 0
307 212t01 & 3,600 3,600 0
04 QUIZHHALE X 3,600 3,600 0
OA2IMI=HEl 3,600,000 3,600
THat2tel 25,649 51,369 N25,720
A2 22,49 46,239 N23,740
201 et 21,239 19,239 2,000
01 AtR2tcIbl 3,220 3,220 0
OSE A EEt=EH| 3,220
—RUBHANAE 28 =2
150,000& x 122 1,800
—&Zs WM & 2 100,000 100
— et rrg 100,000& x12& 1,200
—M==£ At 120,000 120
02 33234l 18,019 16,019 2,000
O83a2= % MAl 13,250
—HIIe= 7,800,000& 7,800
—&ote R 600,000 600
—SEAMN AZHI 4,800,000 4,800
—2BNLTRES 25,0003 *22] 50
OAZ &l =Xidl 4,769
—HHEHl KA 500,000 500
—22 RAldl 2,470 ~878m 2,169
—3t&4 2R 50,0002 123 600
—H 3= &X |A22/8] 1,500,000 1,500
401 AIEHIL20H] 1,260 27,000 25,740
01 Al&Hl 1,260 27,000 N25,740
Od)| MLl HIISA 1,260,000 1,260
Rhefae] 3,150 5,130 A1,980
201 Lt | 3,150 5,130 ~1,980
02 E3=23Hl 3,150 5,130 21,980
Os=2= & MAl 150
— NS XA 30,000 30
—NUSi A= 50,000& 50
—SINEREE= 35,0003 *22] 70
OAlE EHIR AIHI 3,000
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2A: B35
MM FOHEHSY(S3S)
CHl: THARRES (SRR
SA B ER(S) - MRAE - BaS Of &r e HIDE
| | | —ZE2X A 3,000,000 3,000
HY2HHH|(Z3S) 71,442 68,562 2,880
ol 2o A 39,282 39,282 0
oI H| 29,202 29,202 0
101 QI 24H| 29,202 29,202 0
01 24 29,202 29,202 0
GENF=I=PN=: 29,202
—52 9,796% * 12 %28 A| 2H+ 12 3,292
—62 8,31221 2% %08 A| 2+x 12 5,586
-72 7 4572 x4 %28 A| 2H410% 10,023
-82 6,68291 %12 %28 A| 2++ 12 2,246
—92 5,993 x4 %28 A| 2H* 12 8,055
221t 10,080 10,080 0
203 YR=ZFH| 10,080 10,080 0
01 JIHSYYR =AY 6,600 6,600 0
OJ|H2EYR =AY 6,600,0002! 6,600
02 HEIIMAREEIY 480 480 0
OIS R =Y 40,0009 %125 480
M BHSEYREEY 3,000 3,000 0
ORMSIYREAY| 50,0002 *122 3,000
J|=22| 32,160 29,280 2,880
st oy 14,880 14,880 0
201 LBty 14,880 14,880 0
01 AFR22/H| 14,880 14,880 0
ORM2YII=RY 12,960
) TES =11, 40,0009 %12 x 122 5,760
— 32| 50,0002 * 1254 12 7,200
O=AD|2LRE
(120,000 *1CH+40, 0002 «1CH ) 122 1,920
o1t 17,280 14,400 2,880
200 04| 17,280 14,400 2,880
01 =2ULH0IH| 17,280 14,400 2,880
AR EXD)|=20H| 120,000 %125 12 17,280
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SA: B4S
3 FUMH2H(S43)
Sl FOIMEX S (etol:®e)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
s4s 226,013 239,384 213,371
FOHE 2 (543) 152,888 169,139 216,251
T 77,020 74,580 2,440
QEMEd 5,940 6,000 260
201 e 5,940 6,000 260
01 At 2tcIbl 1,140 1,500 A360
OUZYT ASHA 2o 600,000 600
Oels)| =Ml 2edl 15,0002 «3 122 540
02 E3=23Hl 4,800 4,500 300
OLZUH 015 & R8s 400,000 »12& 4,800
se=d 67,320 67,320 0
301 &eteds 67,320 67,320 0
05 S-cl-eyes2ds 67,320 67,320 0
osyegs2EY 62,320
—Jl2+< 200,000« 19 *12& 45,600
—d0= 200,000 * 198 »22 7,600
—3E N+ 20,0003 x19& »22|x 12E 9,120
ogtygs=2d 25,0002 x100& *23 5,000
T 3,760 1,260 2,500
201 et 100 0 100
01 AR 2t2IHl 100 0 100
OHOINESAH 2828 7L 100,000 100
301 &eteds 3,660 1,260 2,400
10 A2 a= 3,660 1,260 2,400
OMEBZY|olY HOIZ0 24|
7,0002%18E 10 1,260
OZ0IANESAI 23U
5,000&*20E ~4 3| x6 2,400
FUNXHEHEZS 36,060 40,060 24,000
FUNXAHESE 29,460 33,460 24,000
201 et 28,200 30,700 A2,500
01 AtR2teiH| 28,200 30,700 A2,500
OFURAIIY 3ol &ALY
30,0002 x29& » 12 10,440
OF0Ind SA=< 12,000, 0003 12,000
QdENsns JA+=g
20,0002 x24 Al 2t 11 A+ 12 5,760
301 LEtE N3 1,260 1,260 0
12 JIe24=2 1,260 1,260 0
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M B4
B FOIMESY(F4S)
thel: FeRXHE 2SS (el &)
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
O=2XXIHEH NHRASAA S4H|
7,000 141180 1,260
HA SHOHE S 3,000 3,000 0
307 21201 3,000 3,000 0
04 CIZHHALS X 3,000 3,000 0
OZ4tstote =X 3,000,000& 3,000
MBI =SS 3,600 3,600 0
307 212+0| ™ 3,600 3,600 0
04 CIZHHALS X 3,600 3,600 0
OA2IM=0=3l JH=l 3,600,000 3,600
THA&k2te| 39,808 54,499 214,691
EAt2te 36,628 49,509 A 12,881
201 Yereg| 31,228 28,809 2,419
01 At 2teltl 4,710 4,710 0
Os&E A Let==EH| 4,710
—SoFHIANAY 22
180,000& x12& 2,160
— Yot a2 120,000 128 1,440
—Md===x Al 300,000& 300
—g&s UA & =2 500,000& 500
—&I|HE R EE HALZ 110,000 110
— 28T 2 200,000 200
02 2524l 26,518 24,099 2,419
O322= 2 HA 19,980
—NIIe3 750,000 123 9,000
—&ol+ERa 140,000 x 128 1,680
—SEA AZH| 750,000& 123 9,000
—SENERES 50,0003 23| 100
—WERLYFES 200,000& 200
OAEE IS Xt 6,538
—2d= || 2,47031,586m 3,918
—dHEHl Rl 500,000& 500
—3t&4 KA 50,0002 *12& 600
=520 I Z Al 200,000 200
—sdJ gL 892
110,000 x 128 1,320
401 AlZHIZ 28I 2,400 6,700 24,300
01 Al&Hl 2,400 6,700 24,300
OXotE=ZEZ WHSA 1,200,000 *2CH 2,400
405 KHoHESHI 3,000 14,000 211,000
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SN B4S
M FOHHRE(543)
CHRl: Mokl (&2 & &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
01 MY S SHSH 3,000 14,000 A 11,000
ORlaa Hte)| A | 3,000,000 3,000
xzeel 3,180 4,990 A1,810
201 Ler23H| 3,180 4,990 A 1,810
02 224l 3,180 4,990 A 1,810
O=S323LNA 180
— XS XA 30,000&4 30
— XS ZA= 50,000& 50
—SFMHe RE= 50,0003 <22l 100
(OZNF=FSi=IE=IN ]| 3,000
—2EXE KA 3,000,000& 3,000
HY2IIHI(F4S) 73,125 70,245 2,880
o2yl 40,005 40,005 0
elieala] 29,925 29,925 0
101 eIl 29,925 29,925 0
01 = 29,925 29,925 0
O=uZRxH 29,925
—55 9,796& x 1H*28A| 2tx12& 3,292
—65 8,312 x2H+28A| 2tx 12 5,586
—7= 7,457 x5 B *28A| 2tx 12 12,528
—8= 6,682 x2H+28A| 2tx 122 4,491
—9= 5,993 x2H+28A| 2tx 12 4,028
=galsl 10,080 10,080 0
203 PR=&H| 10,080 10,080 0
01 JI22ELRFLH| 6,600 6,600 0
OJ |22 HRFAH| 6,600,000 6,600
02 HAIHRZ=EYI 480 480 0
OISR FEAH| 40,0003 *12% 480
04 FEA2ILRFLHI 3,000 3,000 0
PA2ELRFLHI 250,000 128 3,000
Jl=3| 33,120 30,240 2,880
223 15,840 15,840 0
201 Yereg| 15,840 15,840 0
01 AtSZeltl 15,840 15,840 0
OfRAM2gII=&HI 12,960
— Y Et==H| 40,0002 x12H 128 5,760
—= 2| 50,0003 12«12 7,200
O=AL| Xz 120,000& *2CH+123 2,880
o4l 17,280 14,400 2,880
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FM S4s
I3 dY2I3HI(S43)
&l =23l (S d &)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
202 044l 17,280 14,400 2,880
01 =UHAHI 17,280 14,400 2,880
PRI =20 H 120,000« 128 * 122 17,280
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2A:

SRR IH2S(4S)
Chel: AXHH2E L)
- _ — Pl
S FE - BRA(SIH) - NRAIY - BES St BlRE2
OF0Ina ZAr< 6,000,000& 6,000
M=zl 7,000 0 7,000
WNET 7,000 0 7,000
OABOIUE OpMsHRAl 2 ZHS Y
7,000,000& 7,000
2Bt ag 1,260 1,260 0
JIEIE2 A2 1,260 1,260 0
O=2XXIHEH NHRASAA S 4|
7,000 141180 1,260
=03l 3,600 3,600 0
2I2H0| & 3,600 3,600 0
QIZFHALE &= 3,600 3,600 0
OA2IM=3l JH= 3,600,000& 3,600
Hekzte 35,568 44634 A9,066
A2l 32,388 40,954 AB,566
201 2Bt 32,388 33,564 A1,176
01 AtR22ltl 4,160 3,960 200
OSHA Lst2SH| 4,160
—S0IRYINAY 2YL4E
160,000 x12& 1,920
—getAe|E 2 120,000& x12& 1,440
—H==X EaHl 300,000 300
—g2s UM & =2l 100,000& 100
— 2P R =2l 200,000& 200
—HIItEEE =2 200,000& 200
02 3224l 28,228 29,604 21,376
OZ222= ¥ HAl 19,840
—NIIe3 8,600,000& 8,600
—&otER3 2,300,000& 2,300
—SEA AZH| 8,600,000 8,600
—SZNERES 45,000 23] 90
—WESRUFES 250,000& 250
(OINE=F={=IE=INL:] 8,388
—2AdE || 2,470&+1,331m 3,288
—JIAA |X2tel 1,000,000 1,000
— A EHl FXIY| 500,000 500
-5 SERAExHI 220,000& *12& 2,640
—3t&4 KA 80,0002 *12& 960
2l 3,180 3,680 A500
B2 A 3,180 3,680 A500
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S AS
B FOMEHSY(YS)

Erelr THatte| (et A
S - B SRA(3) - MEAEY - B2 ofl & e HI DB
SE22H 3,180 3,680 A500
Os52= & MAl 180
— NS XA 30,0003 30
—NSA BAE 60,000& 60
—SZNERE= 45,0003 *22] 90
OAZ &l =Xidl 3,000
—2Exe FXH 3,000,000& 3,000
B HI(&S 65,867 63,227 2,640
H=3d4l 36,707 36,707 0
26,667 26,667 0
kals] 26,667 26,667 0
2+ 26,667 26,667 0
o=z 26,667
—52 9,7963 1 #28AI 2t 12 3,292
—6= 8,312 x2&Hx28AI 2+ 122 5,586
—7= 7,457 3 2B <28l 2tx 128 5,012
—8= 6,682 3 *28AI 2t 12 6,736
—9=2 5,993 x3EH#28AI 2+ 12 6,041
10,040 10,040 0
203 R F=4HI 10,040 10,040 0
223 A=A 6,600 6,600 0
OJ|a=2dge=ayl 6,600,000 6,600
02 FJINMLARZ=AHI 440 440 0
OF IR =AH| 40,0003 *11 440
SN2 HRFAH 3,000 3,000 0
ORNZgHE=AHI 250,000& 122 3,000
=L 29, 160 26,520 2,640
B2 13,320 13,320 0
201 et | 13,320 3,320 0
01 AtR2elH| 13,320 13,320 0
ORA=g) 22 11,880
—dt=EH| 40,0003 112 ~12& 5,280
—= 2l 50,0003 118 x12& 6,600
O=ADl SX= 120,000« 1CH* 123 1,440
15,840 13,200 2,640
1] 15,840 13,200 2,640
=G 15,840 13,200 2,640
Oogex=aJl=0l 120,000& x 112+ 12& 15,840
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fAM: H1s
B FOIHME2S(AE)
el THar22| (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
— XS XA 30,000&4 30
— NS A= 50,000& 50
—ESZMERES 30,000 *23| 60
OAIEEBI= Xt 3,000
—2ZXE Al 3,000,000& 3,000
HE2IEHI(AHS) 90,538 87,164 3,374
ol A A 57,418 56,924 494
o124H| 47,338 46,844 494
101 eIl 47,338 46,844 494
01 E= 27,928 28,423 A495
O=u22H 27,928
-5 9,796 x1H+28Al 2tx122 3,292
—62 8,312 x2H 28 A| 2tx12& 5,586
—8= 6,682 x4 Hx28A| 2t 128 8,981
—9= 5,993 x5 H x28 A 2t 128 10,069
03 RIAHA22 2+ 19,410 18,421 989
OQIAQIOHN 14| 17,701
=Jlaa 934,903 x1H+12& 11,220
—&0= 11,220,000 » 12 *4/12 3,740
— x4 32,7203 «1H*17 557
—UHeISAt==E 60,0003 1 *12& 720
—2HJht3 30,0003 x1Hx12& 360
— X2 6,130 x 1H*15A| 2tx12& 1,104
OQIRoloHl 282 1,709
— A HEE 17,701,000&%10/1,000 178
—J1EEE 17,701,000&%13/1,000 231
—=300H3z 17,701,000 %45/1,000 797
—HLEE 17,701,000 +26.65/1,000 472
— LIRSS 472,000 +65.5/1,000 31
S22 10,080 10,080 0
203 PR=&H| 10,080 10,080 0
01 JI22ILRFLEH| 6,600 6,600 0
OJI22gYRF8| 6,600,000 6,600
02 HRAIARZ=EY| 480 480 0
OZJIMMHRFLH| 40,0003 *12% 480
04 EA2ILSFEHI 3,000 3,000 0
ORNM2IIRFAI 250,000 x12& 3,000
ol 33,120 30,240 2,880
B2 | 15,840 15,840 0
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S A1s
Hu: WHSAAH(AS)
Cel: D12 (e e
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
201 Ler2 | 15,840 15,840 0
01 At2teldl 15,840 15,840 0
ORAME2EII22H] 12,960
—2e-E 40,0002 x128*122 5,760
—=l 50,000 x12& 123 7,200
OSAD| 8Xt2 120,000& =20 = 12& 2,880
Ol 17,280 14,400 2,880
202 OdH| 17,280 14,400 2,880
01 =N 17,280 14,400 2,880
PRI |20 120,000 x 128+ 122 17,280
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A a2s
B FOIHE S (AS)
thel: FeRXHE 2SS (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
301 LetEAz 630 1,260 A630
12 JIEt2 4= 630 1,260 A630
O=2XXIHEH NHRASAA S 4|
7,000 *141+90 630
AMBIXSHE 3,600 3,600 0
307 gIzZtold 3,600 3,600 0
04 BIZHHALSE X 3,600 3,600 0
OANZIM=U3Sl = 3,600,000& 3,600
TH&k2te| 38,068 38,578 2510
A2 34,898 34,898 0
201 2Bt 34,898 34,898 0
01 AtR22ltl 5,920 5,920 0
OSHAF Let4gH| 5,920
—SUAHIAAY 2gasR
160,000& 122 1,920
—&ojerdzte] tde+==2 170,000&x12& 2,040
—Yet2e|dE 2 130,000 128 1,560
—g&s uAd ¥ =2l 100,000& 100
—H==X HAH| 300,000& 300
02 B2l 28,978 28,978 0
O=2323 £ HAl 19,390
—NIIe3 16,000, 000& 16,000
—&otER3 1,800,000& 1,800
—SEA AZH| 1,200,000 1,200
—ESZNERES 45,0003 23| 90
—WESRUFES 250,000 250
—EADIA BIIFB A8 50,000& 50
(OINE=F{=IE=INL:] 9,588
—A= S Xl 2,470&2,400m 5,928
— A EHl FXIY| 500,000 500
—JIAHA |X2el 1,000,000 1,000
—&20| |AlZel 120,000 x12& 1,440
—&2I| HIIZ A 120,000 = 1CH 120
—3t&4 || 50,000 x12& 600
Xtketel 3,170 3,680 2510
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01 26,667 25,888 779
T2 F 26,667
53 9,796 »1H 28| 2t 12 3,292
—6= 8,312 *»2H 28| 2t 12 5,586
= 7,457 x2B<28AI 2t x 128 5,012
—83 6,682 x3E*x28AI 2H+ 12 6,736
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03 RIAHAZEX 19,541 18,421 1,120
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—d0= 11,220,000 x 12 %4/12 3,740
— Xt 32,7203 x1Hx17 557
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OolaQleH) 282 1,720
—MTHEE 17,821,000&%10/1,000 179
—JIEEE 17,821,000&4%13/1,000 232
—=2lH3 17,821,00024+45/1,000 802
—Ad3=2E 17,821,0002%26.65/1,000 475
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